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• p. 14. The equation in Example 1.1 (above the footnotes) is missing
an equal sign. It should be

. . . → adj(A) A = A adj(A) =

 27 0 0
0 27 0
0 0 27


• p. 15. In Example 1.2, there are wrong signs for the off-diagonal terms
for adj(λI − A) and (λI − A)−1. They should be

adj (λI − A) =

(
λ− a22 a12
a21 λ− a11

)
(λI − A)−1 =

1

λ2 − (tr(A))λ+ det (A)

(
λ− a22 a12
a21 λ− a11

)

• p. 29. Line below equation (1.29), missing word “from”. It should be

“. . . is obtained from A by replacing . . .”

• p. 29. In example 1.10, missing det operations in last equation on
page. It should be

x2 = . . . =

det

 1 2 2
2 3 0

−1 2 3


det

 1 0 2
2 2 0

−1 −1 3

 =
11
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• p. 30. Error in vector p and matrix X for the numerical illustration of
example 1.11 (middle portion of the page). It should be

. . .
As a numerical illustration, let N = 2 and R = 2 and

F = . . . and p =


0.4
0.5
0.4
0.6


...

W = . . . X =

(
0.1429 0.6190

0 0.3333

)
• p. 34. Wrong signs in matrix result (last equation) of example 1.14.
It should be∫ π

0

. . . dθ =
(
p1 p2

)( 0 2
−2 0

)(
p1
p2

)
= 0

• p. 53. In last line on the page, replace R by U . It should be

. . .xTQx = xTLx = xTUx.

• p. 163. In Table 4.4, wrong sign for the matrix representation of a×b.
It should be

a× b −H [a]b

• p. 199. Last line of E4.11 (line above E4.12), replace w by u. It
should be

. . . takes vector y and yields vector u.

• p. 238. Error in right portion of equation above Remarks. It should
be

ŷ =
1

2

(
Ĉ

x̂2
− 1

)
→ . . .
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• p. 240. In theorem 6.1, definitions of x̃ and ỹ are missing x and y,
respectively. It should be

. . . transformations given by x̃ = λαx and ỹ = λβy, where . . .

• p. 253. Missing parenthesis in equation (2 equations above equation
(6.55)). It should be

d

dt

(
e−Atx

)
= e−Atb(t)

• p. 255. (In middle portion of page) The reference to equation (6.14)
should instead be to “last equation” It should be

. . . with respect to λ, of both sides of the last equation and
then setting . . .

• p. 263. For last equation before the exercises, the upper limit in
integral should be t instead of ∞. It should be

x = . . .

= . . .

= eAtx(0) +

∫ t

0

eA(t−τ)b(t) dt

• p. 269. Wrong headings in Table 6.1. It should be

Data set 1 Data set 2 Data set 3
Time xA xB Time xA xB Time xA xB

...
...

...

• p. 287. In equation (7.38) and the previous equation, replace ai by αi.
It should be

yk+1 =
m∑
i=0

αiyk−i + h
m∑

j=−1

bjf (yk−j)

the BDF methods . . . formula to be

yk+1 =
m∑
i=0

αiyk−i + hb−1f (yk+1) (7.38)

3



• p. 302. In the equation before example 7.8, replace x0 by z0. It should
be

IVS


 d

dt
z = A(t)z+ b(t), z0 =

 0
...
0



 −→ z(t = T )

• p. 303. Wrong sign in last equation result of example 7.8. It should
be

x(0) = . . . =

(
0

−20.182

)
• p. 307. Last line of E7.5, change “attached CDROM” to “book’s
webpage”.

• p. 465. In line above equation (12.42), insert word “of” between “root”
and “den(z)”.

• p. 474. Wrong derivative in left side of equation (12.78). It should be

L
[
∂k

∂xk
u(x, t)

]
=

dk

dxk
L [u(x, t)] =

dk

dxk
Û(x, s) (12.78)

• p. 475. Wrong partial derivative in right side of equation (12.79). It
should be

L
[
∂k

∂tk
u(x, t)

]
= skÛ(x, s)− . . . (12.78)

• p. 557. Error in partial differential equation in exercise E14.11. It
should be (

∂2vz
∂x2

+
∂2vz
∂y2

)
= −β
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